Quiz 8 (20 pts.)

e KEY

Short Answer

1.) (5 pts) Find the exact solution(s) to the following for all

(a) 2sinf ++/3 =0 (b) cos®’x —5cosx =6
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3.) (4 pts.) Let a triangle be given with a = 26 ft, b = 62 ft, and o = 23°. Answer the
following. (Note: round your answer to parts (a) and (b) the nearest integer)

(a) Find .

(b) Give the angle measurements for each possible triangle based on your choice(s) of
above.

() sinp - sinl239 sin(B)= sin (180°-p)
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4.) (4 pts.) Find the length of ¢ in the triangle given b = 11 m, a = 56°, and § = 112°.
Find Y Find ¢ \ c= 246604
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Multiple Choice (1 pt. each)

5.) Which of the following triangles can be solved using the Law of Sines?

(a) a=39°,83=63,v=78° AAA X

(D) b=139yd, a=17yd, y=420 SSA ( noside epp angle) Y
@a:105°,7:72°,c:15 mm  AAS '/
(Pv=7ina=s5ma=3° ESA (sicde op angle ) v

6.) Which of the following equations represents the following graph?

(a) y=sin"'x y

(b) y=cos 'z
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(c) y=tanlx r”J
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(d) y=csc 'z L - A/l/,r

@ y=sec lx

(f) y=cot™lx

7.) Evaluate 6 = csc™1(2).

(a) 0 = 0°

0 300 AT (lz\ = 30°
(c) 0 = 45°

(d) 0 = 60°

(€) 6 = 90°



